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1. According to the population pyramids above, between 2000 and 2025-
A. The population of Europe will decline by 10 million.
B. The population of the Europe will increase by 10 million.
C. The number of females living 80 or more years will increase.
D. The number of people living 80 or more years will decrease.
E. None of the above



image1.jpeg
Europe, 2000
Male

Female

4

3

T
2

1

0

1

2 3 4

Percent of Population

5

80+
75-79
70-74
65-69
60-64
55-59
50-54

o 45-49
D 40-44
35-39
30-34
25-29
20-24
15-19
10-14
5-9

0-4

Europe, 2025 (Estimated)

Male Female

5

I|I||2||’i|0|'i
Percent of Population

4

5




